41

3.3

3.2

3.2

3.2

3.2

3.3

3.3

3.3

411



B~ o N

14.80

34.43
30.53
3.13

21.68

17

71.35

2.57

10.93

20

26.00

78

2.80
6.15

59.99

80



20.61

4.1.2

S~ o N

o1l B N

o ol B W N

25.29

94.13

59.44
85.97
20.18
0.92
1 4

41

0.00

84



42

»

12.62
14.10 34.785 0.00
26.57
22.66 »»  65.73 0.00
8.97 3.50 »
14.05 2.45
35.74 11.79 « 15.37
14.18
]
1 3
81 » 4
13
20
L
2.
3.
35.10
26.38 75.66 0.00
26.17
27.29 75.66 0.00
20.05 22.41

83.68 0.00



L
2,
3.
41 - 41
4.1
0.226
1.076
3
!

41 . 61,285

17

0.065

0.382

3.6.3

10,395
1,536

29

35

18

267



42 - 42
4.2
0.240
2.350
0.00
4.2
13,485 20
1,052 15
1,685

41 4.2

0.048

0.530

1.00

67,343

436

26

22

20

6,815

44



4.1 4.2
4.1
0.33
0.49
119
4.2
19.77
98.26 497
112
235
4.1 4.2
(Elevation Profile) (Cross Section)

41 4.2

150

346

45

121

115



4.2

3.6.1

4.3

44

Area)

Regression)

46

4.3 44

(Average per Roadway

(Multiple



10.
11,

12,

13.

14,

15,

Regression)

15

(Multiple

47



48

43

4.4

4.5

-4.2

4.2

-41

41

4.1

4.6

4.9

4.8



4.3

fpizzrr

49

(L079)X( )
(0.226)( )

(0.4811)%X2 + (11375.399)*X3 -(44995.600)
(0.2020)X2 + (18183.613)

(99.430)*X2 - (1256655.453)
(77.970)'X2 + (8582601.694)

(Least Sum of the Squares)



43.1

4.10 411
- 410
410 - 4.10
4.10
411 - 411
3
(Least Sum of the squares)
43.1.1

3
1,174
993

5881

4.10

4.10
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2,147
2,221 3
3
2
120 15 25
133t
3
3
AC-11
0.03047
325
AC-11
2
35 12 -3%
8
3
783
1,026

3,860



23
-15 2
-16 43
4312
g ——
317753
5,517
4,256
-17 45

-32

2,066

29

7,862

1,272

40

52

-13

14



RC-13
0.01136
400
RC-13
-14 53
139
1,461
4,463 5,426
23
-18 53
-17 38
3 411
43.2
- 4.12

412 - 412

4.12

4.13

-17

4.12



4321

-25

4322

412 - 412

-10

2,290

2,159 1,749

10

1109

4.13

20

2,347

- 413

228

341

304 304

205

1,476

734

230

54

585



120

1,445

1129

44

55

3007
268
8 9
130
436 436 790
9,120 9,282 28,611
219
240
-12 9 1,444

4.13

41
4.4

4.5



56

4.6 4.7

4.8 4.9

44.1

3 AC-10
3 45 - 4.6 4.8

4411
4.5

=<
1"

25.525
606,800
40.00

=, &
=<
wW =
N} (B}

( 410 )
= (L.034)%( )
= 627,431.20

, = (0.226)%( )

137,136.80

(1.669)*( )

1,012,749.20

= 0.78769



Jr

( 410 )

(Bill of Quantity)

86 /
570 /

100 /

627,431,20%(86)
53,959,083
137,136.80 *(570)
78,167,976
1,012,749.20 *(100)
101,274,920

53,959,083 +78,167,976 +101,274,920

233,401,979
(

(233,401,979)/(0.78769)

296,311,974

440

(

3,077

)

= 0.78769

( 410 )

= 82,000
1,978

410 )

AC-10

57



= 440*(82,000)

= 36,080,000

= 3,077%(1,978)

= 6,086,306
= 36,080,000 +6,086,306
= 42,166,306

= U

(42,166,306)/(0.79696)

= 52,908,936
( 410 )
(
(
)
= (0.09902)*( 296,311,974 + 52,908,936)
= 34,579,856
( 410 )
= 296,311,974
= 52,908,936
, = 34,579,856
383,800,766
AC-10 = 433,462,850
- 1146
44,12
46
AC-10
( 410 )
= 0.4811*x2+ 11,375.399*X3 - 144,995.600
= 601,952
= (1.094)*601,952 ( )

= 658,535

58



59

0.2020X2 + 18,183.613

= 140,757

-8,923.872% +2.136% + 63,372.007

= 1,131,715

= 0.78769

( 410 )

658,535*(86)
56,634,010

140,757*(570)
80,231,490

1,131,715%(100)

113,171,500
56,634,010+80,231,490+113,171,500
250,037,000

( U

(250,037,000)/(0.78769)
317,430,715

( 410 )
= 440
3,077

= 0.78769

( 4.10 )
(Bill of Quantity)
AC-10
= 78,000 /
2,180 /

= 440%(78,000)

= 34,320,000

= 3,077%(2,180)

= 6,707,860

= 34,320,000+6,707,860
= 41,027,860



60

)
= (41,027,860)/(0.79696)
= 51,480,451
( 4.10 )
( )*
(
)
= (0.09902)*(317,430,715 +51,480,451)
= 36,529,584
( 4.10 )
= 317,430,715
51,480,451
, = 36,529,584
= 405,440,750
AC-10 = 433,462,850
= - 6.47
4413
4.8
AC-10
(X3 = 25525
(X2) = 606,800
(X3) = 40.00
(X" = 440
(Xs) = 3,077
( 4.10 )
= 99.430*x2- 1,256,655.453
= 99.430*(606,800) - 1,256,655.453
= 59,077,469 *( )

59,077,469*(0.723)
42,113,010



61

= 77.970% + 8,582,601.694

= 77.970*(606,800) + 8,582,601.694

= 55,894,798

= 140.910%-3,943,787.128

= 140.910*(606,800) - 3,943,787.128

= 81,560,400

= 42,713,010+55,894,798 + 81,560,400
= 180,168,208

( 0

(180,168,208)/(0.77749)
231,730,579

( 410 )
= 62,151.164*X4 - 33,542,992
= 62,151.164%(440) - 33,542.992

= 27,312,969
= 1,762.954*X5 - 396,039.883
= 5,028,570
= 27,312,969 +5,028,570
= 32,341,539
i
)
= (32,341,539)/(0.77749)
= 41,597,370
( 410 )

)
(0.09594)*( 231,730,579 + 41,597,370)

26,223,083

( 410 )
= 231,730,579
= 41,597,370
= 26,223,083



Factor F

45

451

62

= 299,551,032
31 ) = 07231
= (322,407977)/(0.7231)
= 414,259,483
AC-10 = 433,462,850
- - 443

44

(Standard of Measurement)
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